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1. The order of matrix A = [2 ] is

(i) 1x2 (i) 1x1 (iii) 2%x1 (iv) 3xX1 (v) 2x%x2

2. The order of matrix A = [4-3 ] is

(i) 2x2 (i) 2x3 (iii)) 1 x2 (iv) 1x3 (v) 2x1

3. The order of matrix A = [-4-5 3 ] is

(i) 1 x3 (ii) 3x1 (iii) 2%x4 (iv) 1 x4 (v) 2%x3
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4. The order of matrixA=[ 15 ]is
(i) 2%x2 (ii) 2%x3 (iii) 3x2 (iv) 2x1 (v) 1x2

5. If the elements of matrix A are multiplied with -1 , we get

(i) additive identity of A (ii) multiplicative inverse of A (iii) additive inverse of A

(iv) multiplicative identity of A

6. If the elements of matrix A are multiplied with 0 , we get
(i) additive inverse of A (ii) multiplicative inverse of A (iii) multiplicative identity of A

(iv) additive identity of A

7. A2 X 3matrix has

a) 2rows and 3 columns
b) 3rows and2columns
¢) 5rows and3columns
d) 2rows and6 columns

(i) {c,a} (ii) {a} (i) {d,b,a} (iv) {b,a}

8. Which of the following are true for matrices Aand B ?

a) IfFAB=0,A=0o0rB =0 orboth A and B are zero matrices
b) If A and B can be added, they must have the same order
C) The orders of(AXB)and(BXA)are same

d) If A and B can be multiplied, they must have the same order

(i) {a,b} (ii) {c,b} (i) {b} (iv) {d,ab}



9. Which of the following are true ?

a) The order of (AXB)and (BXA)is same

b) IFAB=0,thenA=00rB=0orbothA&Bare0

c) If matrices A & B can be added, they must have the same order

d) If matrices A & B can be multiplied, they must have the same order

(i) {b,c} (i) {d,a,c} (i) {c} (iv) {a,c}

10. Which of the following are true for matrices A, Band C ?

a) (AXB)=(BXA)

b) AX(BXC)=(AXB)XC

c) (AXIl)=(IxA)=A

d) AX(B+C)=(AXB)+(AXC)
e)

f)

A+B)XC=(AXB)+(AXC)

(
(AX|)=(|XA)= |

(i) {eb,c} (i) {ec} (i) {ab} (iv) {fa,d} (v) {b,c,d}

1 If the order of matrix Aism X nand Bisn X o,
" then the order of (AXB) is

(i) mxXo (ii) mxXn (i) nXo (iv) oXm

12. Which of the following are true ?

a) If A X B is possible, the no of rows in A must be equal to no of rows in B
b) If A X B is possible, the no of cols in A must be equal to no of cols in B
c) If AX B is possible, the no of rows in A must be equal to no of cols in B

)
)
)
d) If A X B is possible, the no of cols in A must be equal to no of rows in B

(i) {a,d} (i) {d} (i) {b,d} (iv) {c,ad}

a b
IfA=[ ]andB=[p q]’
13. c d r s

then(AXB) =

(i [pa+qc pb + qd] i [ ap+ br aq+bs] (i [ ap + br cp+dr]
i ii iii

ra+sc rb+ sd cp+ dr cqg+ ds ag+ bs cqg+ ds

(i) [ ap+cq ar+cs ] W) [ ap+ bg ar+ bs]

bp+ dq br+ ds cp+dqg cr+ ds

J e

a b c
IfA=[ ]andB=[r s],
14. d e f
t u
then(AXB) =
b ap+dq ar+ ds at+ du pa+ qd pb+ ge pc+ qgf
a c
(i) [ d f] (ii) [ bp+eq br+es bt+ eu] (iii) [ ra+sd rb+se rc+sf ]
e
cp+fq cr+fs ct+ fu ta+ ud tb+ ue tc+ uf

(iv) [ ap+ br+ct dp+er+ft ] ap+ br+ ct aq+b5+cu]
iv v

ag+ bs+ cu dg+ es+ fu dp+er+ft dg+ es+ fu



a b c p q r

WA=[d ef']mdB=[s t u],

15.
g h i v w X

then(AXB) =
pa+qd+rg pb+qge+rh pc+ gf+ri

ap+dg+ gr as+ dt+ gu av+ dw+ gx
sc+ tf+ ui ]

(i) [ bp+ eq+ hr bs+ et+ hu bv+ew+hx] (ii) [sa+ td+ ug sb+ te+ uh

cp+fg+ir cs+ft+iu cv+ fw+ ix va+ wd+ xg vb+ we+ xh vc+ wf+ xi

ap+ bg+ cr as+ bt+ cu av+ bw+ cx

ap+ bs+cv ag+ bt+ cw ar+ bu+ cx
dv+ ew+ fx ]

(iii) [ dp+es+fv dg+ et+ fw dr+ eu+ fx ] (iv) [ ap+eqg+ fr ds+ et+ fu

gp+ hs+iv gg+ ht+ iw gr+ hu+ ix gp+ hg+ir gs+ ht+iu gv+ hw+ ix

ap+ bs+cv dp+es+fv go+ hs+ iv
(v) [ ag+ bt+ cw dg+ et+ fw gg+ ht+/’W]
ar+ bu+cx dr+eu+ fx gr+ hu+ ix

]

b12

411 912 by,
WA=[ ]mdB=[

16. dy; Az by, by,

then(AXB) =

" byjaz; + byaz byi855+ byya,, (i) ay7b17 + @065, apby + agby;
[ i
byia;;+ byyaz; bya;+ byras; a by + @by, ayby + axb,,

ay1by;+ a1oby; @z1b11 + azyb5 . apbyy + @by apbiy+ agsbss
(iii) (iv)
aybio+ apsbyy axbi,+ axbs, ayibyg + asby; axbi,+ axbs,

ayby+ ayb;, apby + ax;b,, ]

(v) [
apobyg+ axbi, apby + axb,,



;7 912 933
17 If A=
' 87 @2 dz3
then(AXB) =

byi@1; + bysas;
(i) [ byia;; + byras;

bza;; + b3saz;

bll

]andB=[ by,

b31

byi815+ bysass
byia;5+ byra5;,

bzia1,+ b3ras,

bii813+ byrass

d;1 912

byia13+ byra53 ] (i)

dy; dx

b3z1813+ b3ra3

ayibyg+ arby, @by + axb,, apbs; + axbs;

(iii) [ apobyg+ axbis @by + axb,, appbs; + axbs, ]

aysbyg + arsbys, apsby + axsh,, apsbs; + axsbs,

ayibyg+ agpby + agsbs;

(iv)

ay1by; + ayby; + aysbs;

aybio+ @byt agsbs, axbi,+ axb,, + aysbs;

aysbyg + @by + azsbs;

(v)

ay1by; + ayby; + aysbs;

;7 912 9i3

18 IfA=[ a,; ay, dayz ]andB=[ by;

d3; d3z; dszz

then(AXB) =
aygbyg+ apbi,+ ag;shbis
(i) [ ay1by; + axbis+ axsbs

azbyg + azbis + assbys

ayibyg+ aybi,+ azb;s
(ii) [ apobyg+ aybi,+ asb;s

ayzbyg + ayzbi,+ assbss

bjia;; + byyaz; + bizas;
byia;; + byraz; + byzas;

(i) [

bzia1; + b3yaz; + bszaz;

ayibyg+ @by + agsbs;

aybio+ @by, + agsbs;

(iv) [

aybiz+ apbys+ agsbss

ayibyg+ agpby; + azsbs;

aybio+ @by, + agsbs;

ayibio+ aybyy + ayszbss

bll b12 b13
b22 b23 ] ’
b31 b32 b33

ayiboy + @by, + agsbys
ay1by1 + ayby, + aysbys

aziboy + azby, + azsbys

ayiby; + aybyy+ azbys
@by + aybyy + aszbys

ayzby; + aysby, + assbys

bjia1,+ byrass + bysas;
byi@15+ byya5, + by3as;
bz1815+ b3ra5, + b3zas;
ayibyg + ayby; + axsbs;

ayibio+ aybyy + azsbs,

ayibi3+ aybys+ aysbss

ayibsz + @bz + agsbss
ayibsz; + aybs, + aysbss ]

a31b3; + a@zbszy + azzbss

ayibsz; + aybsy + azbss
aiobsz; + aybsy + azbss ]

ay3bsz; + aysbsy + azsbss
bjja;3+ bjyars + bizass
byia;3+ byyazs+ byzass ]
bzia13+ b3yay3+ bizazs
azbyg + azby; + assbs;

azbio+ azbyy + assbs, ]

azbyz+ azbyz+ azzbss

aybio+ apbyy+ agsbs, @bz + ajbyz+ agsbs;

(v) [ ayibyg+ ayby; + axsbs; a@xbio+ asby, + aysbs, aybiz+ a)byz+ axzbss ]

azbyg + azby; + assbs;

azbio+ azbyy + assbs, azbiz+ azb,z+ azsbs;



19. IfA=[ 8 (-7) ],B=[ x ],then(AxB)=

(i) [ (_87);) (_87}/)/) ] (ii) [ (8x—7y) ] (iii) [ Z; Z::;z ] (iv) [ (8x—7y) (8x=7y) ]

(8x—=7y)
o [ ]
(8x—=7y)

R

x2a+ Xyc X2b+ xyd
(i) [ x2+y2 ] (i) [ (iii) [ x2a+ybx+ xcy + y2d]
yxa + y2C yxb + y2d

(iv) [ xay + y2b+ X26+ yax ] (v) [ xza+ycx+ xby + y2d ]

If the order of matrix Aism X nand Bisn X oand Ciso X p,

21 then the order of (AXB)XCis

(i) mxp (i) mXxo (i) nXp (iv) pXm (v) oXm

2 If the order of matrix(AXB)is4 X 4and the orderof B=3 X 4,
" then the order of A is ?

(i) 4 x4 (i) 5x3 (iii) 4%x2 (iv) 5x4 (v) 4%X3

23 If the order of matrix(AXB)is2 X 4and the order of A =2 X 3,
" then the order of B is ?

(i) 3x4 (i) 3x5 (iii) 2%x4 (iv) 4%Xx4 (v) 4%X5

-7-9
IfA= [ ] and the sum of the values of
24. 6 3

elements of matrix kA =-14, find k

(i) 4 (i) 1 (i) (-1) (iv) 3 (v) 2

8-5
25. Find the multiplicativeidentity of matrix A = [9 s ]

DT [ e [ e [ v 2]

0-43
26. Find the multiplicativeidentity of matrix A = [4 0-3 ]
124
100 100 100 130 100

(i) [010] (ii) [010] (iii) [010] (iv) [010] (v) [020]
000 00-1 001 001 001



27. Which of the following pairs of matrices can be multiplied?

-1-7 -1-7

o[e1[z4] w [ 1 [z« o [5T[=2] w0 [G1[5]

o [e] [

28. Which of the following pairs of matrices can be multiplied?

5 5-8 -7 5-8 55 5-8 4-1-3
0[5 Ilee] o] [ee] o [S][e7] @ o] [L55

o el 402

29. Which of the following pairs of matrices can be multiplied?

-33

-33
'>[ FLo2] o [or ][0T o o] Lo2] e [5o] [+7]
3-7
o [aae] [222
30. Which of the following pairs of matrices can be multiplied?

6 5 56
m[é:]{i4]‘m[§: [os] v [322][0s] o [+][24]
-8-5 -3 -8-5
5
(v) [1 ],[-3-1-2 ]
3

31. Which of the following pairs of matrices can be multiplied?

0[] 0 1T w [ [ee] o [aea] [
o301 e]

32. Which of the following pairs of matrices can be multiplied?

52 5 52

ool [ @[l fes] o [2][ea] w [ase ][5
-20 4 -20

@ [go ][0 ]

If A .and B are given as below, neither(AXB) nor(BXA)
" is possible for which of the following pairs?

(i) 1X3,2X%X3 (ii))2xXx3,3%x1 (ii)1x2,2%Xx3 (iv)3x1,1x3 (v)1x2,2x1



34.

35.

36.

37.

38.

If A .and B are given as below, neither(AXB) nor(BXA)
is possible for which of the following pairs?

() 3x2,1x2 (i) 1x2,2%x1 (iii)3x1,1Xx3 (iv)2Xx3,3X1 (v) 1x2,2X%X3

If A and B are given as below, neither(AXB) nor(BXA)
is possible for which of the following pairs?

(i) 2x2,3x3 (i) 2%x3,3x1 (iii) 1x2,2x3 (iv) 1x2,2%x1 (v)3x1,1x3

If A and B are given as below, neither(AXB) nor(BXA)
is possible for which of the following pairs?

(i) 3Xx1,3%x2 (ii)1x2,2%x3 (iii)2x3,3%x1 (v)1x2,2%x1 (v) 3x1,1x3

If A .and B are given as below, neither(AXB) nor(BXA)
is possible for which of the following pairs?

(i) 3X1,1Xx3 (ii)1x2,2x%x3 (iii)1x2,2x1 (v)2x3,3%Xx1 (v) 3x1,3x%x2

Express the following equation in the matrix form

a;x+ b;y+ c;=0and ax+ b,y+ ¢c,=0

a; a; a;

0 N 0 i RN SO | S Y A B

a a; b

SIS 00K 0 R B [

C;
]-°
c

2



Assignment Key

1) (iii) 2) (iii) 3) (i) 4) (i) 5) (iii) 6) (iv)
7) (ii) 8) (iii) 9) (iii) 10) (v) 11) (i) 12) (ii)
13) (ii) 14) (v) 15) (iii) 16) (iv) 17) (v) 18) (v)
19) (ii) 20) (v) 21) (i) 22) (v) 23) (i) 24) (v)
25) (i) 26) (iii) 27) (iv) 28) (iv) 29) (ii) 30) (v)
31) (ii) 32) (i) 33) (i) 34) (i) 35) (i) 36) (i)
37) (v) 38) (iii)
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